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Question Number : 1 Question Id : 5471143701 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What accounts are debited and credited to record a partner’s cash withdrawal in liev

of salary?

=

dd06° PRI SHED 600 65‘°§ D08 O greren 3D Dohadzan
£08cth BAES Jahaderan?

Options:



Salary A/C Dr
Cash A/C Cr
2&o A/C Dr

ot A/C Cr

Cash A/C Dr
Salary A/C Cr
S A/C Dr

Lo A/C Cr

Current A/C of partner Dr
Cash A/C Cr
PRI Too8) (558 A/C Dr

e A/C Cr
3.¢

Cash A/C Dr
Current A/C of partner

St A/C Dr

coula RV Gg) (s A/C Cr

Question Number : 2 Question Id : 5471143702 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What is the nature of joint venture with co-venture account?

&l agardo, B SRRt grarod® Somoo dw.
Options :

Nominal account

IPe0T(B) geEe

Personal account

éﬁ%ﬁé graEe
2. ¥

Real account

TPINE grEe

Memorandum account

ooroan grae

Question Number : 3 Question Id : 5471143703 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Goods previously ordered from Ganesh were delivered and an invoice for Rs.

10, 000/-received. Accounting entry is:

dod® Kida hod &b TR e H88m woxy, aSrand Br110,000 )b

28 ool a’JCSOJ.

Options:



Dr Cr
Goods A/C ... 10.000
To Ganesh 10.000/-
Sa9en 8ot Gerb 10,000/~

To A&5 10,000/-
1.¢

Goods A/C. Dr 10.000/-
To Cash 10.000/-
Soden a0l Gerb 10,000/~

pla" 10,000/~

[nvoice Dr 10.000/-
To Ganesh 10.000/-
sRranh Gerd 10,000/-

Ken 10,000/~

None of these

NS

Question Number : 4 Question Id : 5471143704 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which one of the following is not a factor to be considered in designing costing
system?

& (Bod 6" 2B Siuh eTodiol KK GriroBosERS sko S

Options :

Reporting factor

DRSS 880

Price factor

L v &S =P80

Economy factor

@gé o850
3. #®

Organizational factor

wférﬂ S50
™S
4. %

Question Number : 5 Question Id : 5471143705 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When amount deposited in a bank is withdrawn for financing a project, the loss of
interest on bank deposit will be referred to as

06 (B TS Dot P 8550:F00055pE $) 56 SR vvrrven
SleTaye))

Options :

Replacement cost

PO B
1. % = i
Sunk cost
1& Jgado
2. %
Opportunity cost
ORISETE QJ[000
3.¢¥
Pre-production cost
6818 DS PO
4. %

Question Number : 6 Question Id : 5471143706 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The total cost of product 1s Rs.64.000/- and if 20% of sale price is the profit to be

added, what is the sale price?

Q003 éé;oﬁm 64,000/, %‘Eﬁjéé@iﬁéﬁs 20% 5 orglore 093, @cﬁséé@ $0 aod?



Options :

Rs 80,000

Soe. 80,000
1.

Rs 76,800
Soe. 76,800

Rs 74.800
G, 74,800

Rs 78,000
Goe. 78,000

Question Number : 7 Question Id : 5471143707 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Management accounting analyses accounting data with the help of

Qe @Eodon devoad) & 98%00.
Options :

Tool

VL ATVEISY
1.



Substitute of management

N5ETEd (D800

Complementary

HOHPEEDS Soden

Budget

aTal b
4, % >

Question Number : 8 Question Id : 5471143708 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following is not a tool of management accounts?
& 808 TBE° DB e ©T 0Bl FEHw To%?

Options:

Managerial Costing

Ejﬁﬁg’ﬁﬂm eﬁgjcﬁjﬁoéc:}

1. %
Standard Costing
(OXrRE JgasroBo

2. %



Variance analysis

S PnTel>) Sﬂﬁmm

Job costing

ee) SPR0N
4. z

Question Number : 9 Question Id : 5471143709 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In funds flow statement, depreciation of machinery is

AHe (HPaedrs IZOEE® ahol@sn SHivEe

Options :
Application of funds
AG0e LETNo

1. %
Source of funds
f&0en 5’355{} 200

2. v )
No flow of funds

. Qe [Hardro B

. B

4, %



Payment of tax

é:ﬁa@ D& oot

Question Number : 10 Question Id : 5471143710 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In make buy decision, it is profitable to buy from outside only when the supplier

price is below the firm’s own

Bart Fan S0 Froifen DBk adhbod §io aIpL) ePgTPaED

Options :

Variable cost

| o S S8 et

Fixed cost

?‘36 SPcy
S A
2. %

Total cost

SwEo 500

3. #

Prime cost

BF°S 5°Q



Question Number : 11 Question Id : 5471143711 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
An association of persons becomes partner when
2 “, i e, T e
ééje’_one; n::sﬂaﬂ% ag‘crﬂuug&ﬁ;}a Q0% WP ©@)E08.

Options :

Its purpose is to carry on business for profit motive

ePgo aRgard 5350‘5::0 e9ONS
1.4

Its purpose is to render services for general welfare of mankind

Feles ErdHe SogIrAS oo @oBoSEo G5eH0 BoNSIPE

o

2. %
Its purpose is to carry on some charitable work
q:maéé DS Pee 3§cﬁao 90DIIPLD
3. %
Its purpose is to render social work.
&9 G5oDH DHErRE VHew ©oBowHE
4. %

Question Number : 12 Question Id : 5471143712 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The minimum numbers required for registration of a co-operative society is
HPEel D00 SARHE sdebd B9 ﬁéjjém

Options :



o
1. %

Ten

26
2.

Twenty

e=te )
3. ®

Two

BotD
4, %

Question Number : 13 Question Id : 5471143713 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following companies can adopt Table A in place of articles of

association?

8o B6° 2 SoadE™ Band A Kol AahirsdR SrBodHiy.
Options:

Public limited companies

ey Boen
1.¢



Private limited companies

@36}: B0 aaaen

Unlimited companies

HO Bolen

Foreign companies

D58 Bonden

Question Number : 14 Question Id : 5471143714 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of persons that should be at least signed in case of public company and

private company must be

SE8 $H00 RIG Soues® o oo Ho8so Jaird

Options:

h

2
1.¢

-2
Lad

)
Lad

3. #



L4d
N

Question Number : 15 Question Id : 5471143715 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which sections of the following deals with the performance of contingent contract?

808 THE O VLS el FolErS) AEPHD H020000R0.

Options :

1. %
Sec 32 to 36
T:‘:Lﬁ 32 to 36
2. %
Sec 31 to 36
?JME 31 to 36
3. ®
Sec 30 to 36
?auﬁ 30 to 36
4, %

Question Number : 16 Question Id : 5471143716 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
The consumer protection act came into being
DAGrHTrde Sge $&0 od &8S°8 SQob.
Options :

15. April. 1987
15 DS, 1987

1. ¢
15. March, 1990
15 &r8), 1990
2. #®
15, April. 1992
15 DS, 1992
3. #
15, April 1986
15 S, 1986
4, %

Question Number : 17 Question Id : 5471143717 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following are two methods of constructing an economic theory?
Bod FEE° O Toth Hej0s® ©YE drromd) AFE?

Options:

1. %



Micro. Macro

L " e
r:uﬁég, o

Normative, Mixed

S, DolE

Deductive. Inductive

. éﬁoog}. FoANOTY)

Positive, Negative

e 0Er, (H85re

Question Number : 18 Question Id : 5471143718 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which one of the following is not a method of measuring elasticity of demand?

Bod BE° 2B Giirol E TR BB)oh 568 sh?

Options :

Arc method
@tﬁjﬂg DL
[~

1. %



Point method

SPONOLT aﬁ%@

Percentage method

GEEINWIRSTt L
3.¢¥ -

Ratio method

DY H58

Question Number : 19 Question Id : 5471143719 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The Cobb-Douglas production function exhibits return to scale

%Eaftiﬁﬁ 668, D6 S5FD ©HI00d erred ™ Sr0B.
Options:

Constant

Ealafvy)
1. @

Vertical

eV
2.



Horizontal

Dros 5w
Diagonal
Htelola

4. % w

Question Number : 20 Question Id : 5471143720 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following group of agricultural subsidies are allowed under WTO?

Bob WTO 86° & dsidant siiried shfber )T,

T

Options:
Blue box
23 e5)
1. %
Red box
38 @75
2. #
Golden box
S arby
3. #

4.



Green box

NS e

o

Question Number : 21 Question Id : 5471143721 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In which of the following, commercial banks do not accept deposits from public?

8ot PBE° O ey apsotoen (e ool Baraty VEB0EH?
Options :

Saving account

20R @05
1. %
Current account
X00én «@0Z°0én
2. %
Fixed deposits account
P5E 0508
3.
Dormant account of NRI
OoR. &0, 8. (583 00 @S°0ed
4. R

Question Number : 22 Question Id : 5471143722 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
EXIM banks is owned by
EXIM ergof dhessdrd

Options :

RBI and Government of India jointly

&ndme RBI 5805 Soll (:gbd0

1. %
RBI and Commercial banks jointly
ﬁ&é&nﬁ n8cin RBI 5805, Es%aaé 250500
2. #
RBI and financial istitutions
RBI £00diw 8 Hoden
3. ® =
Government of India
Sol8 (Hghesto
4. &

Question Number : 23 Question Id : 5471143723 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which dimension of e- commerce enables commerce to go beyond the boundaries

of the country?

&-00) Q) ofmsiver e 38 dgen inkH 26 S0,



Options :

Interactivity

HENG (Bsrdoo

Ubiquity

o o
r=oes
ﬁjéufu E}d

Richness

AHEEE

Global reach

ESESTe TRy
=2
4. &

Question Number : 24 Question Id : 5471143724 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What is not a function of ERP?

ERP 2§ & seth?
Options :

Sales

@?‘éaéeﬁ@:
1. =



Scheduling
ElatiyaleTy]

Warehousing

DD ey

Preparation of mission statements

OENe RS SATHICEIE
4.9

Question Number : 25 Question Id : 5471143725 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which is not the component of Economic environment?

& (Bod FHE° 2B ©fE SoxHER0s” o Th?
Options :

Industrial policy
JeO|EeelE DgEhdo

Economic policy

08 DTEN0
2. % %



Economic conditions

esDE HOMeeD
L] @

Social policy
FeRrRs NP0

4.+

Question Number : 26 Question Id : 5471143726 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

1) Micro environment
i1) Macro environment
111) Global environment

iv) Political environment

Bod >de asIchod :
(1) o) SSogBea0

(11) KJJL;@ DTRG0

(i) 3503 0580

(iv) oresbiah Sieprvel: e

Options :

1.

i-b,ii-a.iii-c, 1v-d

L

(a) Interest rate
(b) Suppliers
(c) WTO restrictions

(d) Planning commission

(a) $& Bew
(b) STt

(c) WTO 35een



i-a.11-b.ii-c, 1v-d

2. #

b -aa-d -
3. ®

icbi:ec i=a v=d
4, %

Question Number : 27 Question Id : 5471143727 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Arrange the following Acts, according to their establishment in India.
(a) Industrial Dispute Act
(b) Factories Act
(c) Consumer Protection Act

(d) Competition Act

B0l Stpoidh 6 JovEn SBIE” Srdodol
() FO[EE DFTre H60
(b) Sooyeore $80
(€) ITFHTHe Bges D80
(d) 26 Se0
Options :

d.c.b.a



a.b.c.d

2. ¥

¢.d.b.a
3. 8
4w b4

Question Number : 28 Question Id : 5471143728 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following was introduced in December 2000 to provide road

connectivity to unconnected villages?

& (8od 86" 2000 Soubn ERoatd® 5 STy, SrBoB $ges”
©H0grHEnE” (FRSofomt?
Options :

Pradhan Mantri Gram Sadak Yojana

DTS E0l@ [P HE85 Eresd
1.4

Indira AwasYojana

Qobor earh Ggresd

SwaranJayanthi Gram Sampoorna Yojana

Fﬁﬁ&cﬁj@@ Boressd

L2



Sampoorna Grammena Y ojana

[(esd dgore DoIrg dresd
4. %

Question Number : 29 Question Id : 5471143729 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In internal check would fail to prevent a fraud

&° o838 89 Irard) AT HoITH
Options:

Collusion

(e
1.4

Redistribution of work

IV P la e AN
2. #

Absence of branch manager

S Fonesd BHIPE
3. ®

Absence of one of the employees

2.5 ﬁﬁaéﬁ éééﬂ:ad:
4, %



Question Number : 30 Question Id : 5471143730 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is irrelevant for vouching cash sales?

Bob &S 5rith edysre LD0h% Somogo B
Options :

Daily cash sales summary

SPes SKEH eisPen FTe0do

1. &
Salesmen summary
@éaééo one JPoroI0
2. %
Statements sent to customers
. PO HoH0D IRDBeD
. B
Bank statement
e:ﬂé;oé R6E
4.

Question Number : 31 Question Id : 5471143731 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Form i1s issued for TDS salary

£85 TDS &° S@eQ) b Do

Options :



Form 16 A

D 16 A
1. %
Form 16
D(Gaw 16
2. ¥
Form 10 E
Jgasw 10 E
3. #®
Form 12 B
Hgaw 12 B
4, %

Question Number : 32 Question Id : 5471143732 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which ministry is responsible for the development and administration of SEZs in

India?

P888%06%) SEZ eaé}éex}% DO HoPLNE @ 0B} 8 ertd Daryol?

Options :

Ministry of Commerce and Industry

sredezgo s0OAID HO(Eve Do@ss Ty
1.4



Ministry of Finance

@%é S0O(BE TP

Ministry of Corporate Affairs
SEBES SgsPore S0o(@&y By

Ministry of Home Affairs
Fo JgRfore o(@8 TP

Question Number : 33 Question Id : 5471143733 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What is the primary purpose of a data warehouse in a ERP system

ERP $506° Tee Afoh o) (a8 [Barabo Hnd?
Options:

To store transactional data

PITOLO G Qex 5o velastdl

To analyse historical data

TO(BE Berdd DZRoSTDE
2. ¢ '



To perform real-time data processing

Dez—H50cDH Qe (Dol DTaheeds

To serve as a backup for the system

BYH %0 argEdr HAVADHTRS
4. %

Question Number : 34 Question Id : 5471143734 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

‘What is the status of an unpaid seller?

3o ES TwE) 18 dWE?
Options :

He has the right to stop the goods in transit

Earerd® &) HPod eS8 oS8 ) Gob
1.¢

He has no right to stop the goods in transit

Sarers® &%) SHodh 6D FK) 0S8 S
2. %

He has the right to sue the buyer for non-payment

BY0SI0HH FHFWTHD oo S F°5) 038 God



He has no legal recourse 1n case of non-payment

B3P0 HFoS® ©EAB SLHHERD $Fabo Ted

Question Number : 35 Question Id : 5471143735 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What 1s Trade Classification?

aﬂa%easg 5§§6m @08 HWE?

Options :

The process of dividing goods into different categories for tax purposes

$K) P@ramre %0 ShPed S Soere dEod HBAD

the process of dividing business into different categories for legal purposes

SEHEPR PRraTe Eo TErTed 0 St DEod @B

The process of dividing workers into different into different categories for
wage purposes

383 BAramre S50 sobedh DG Sorerr HgLod FHBab
3. %

The process of dividing customers into different categories for marketing

Srg)fiol %50 Q@FKTHheH JDF Screor Difdod ([Edh @@raso



Question Number : 36 Question Id : 5471143736 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What is the protection provided to a banker under Section 10 of the Banking
Regulation Act, 19497
emgo8on BrigTie afeg, 19496% %5 10 Heedo 2rg050% wobotals S
Qé)?

Options :

Protection against fraudulent activities committed by customers

508 BRD APRIR0E setsSerare ol S5

1. %
Protection against losses incurred due to natural disasters
($%)8 00z Sg SN Sape ok B

2. % '
Protection against losses incurred due to employee negligence
&E5H AEo Sg FON Jape ol B

3. %
Protection against liability for disclosing customer information
EJ00 e irddo 3008 PES Dok BEes

4.+

Question Number : 37 Question Id : 5471143737 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following statements is true about the balanced scorecard?

aﬁéﬁﬁﬁ 535[3_59(; 80D 80 %5@305@5’5 a0 Qa0?
Options :

It is a financial performance measurement system.

98 @08 HABB Fod HH
1. % * N

It focuses on short-term financial results

28 Do sdE @gé POSFO D tﬁe}% FAlabl el
2. %

It includes only financial measures

28 eagé eIy S BOA Gotnod
3. %

It translates an organization’s strategy into a set of performance measures.

26 éo‘g &mé& éjﬂé#?\]& 5086 ééé@ RSP 2e0)E00.
4.

Question Number : 38 Question Id : 5471143738 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following accounting concepts states that expenses should be
recognized in the same period as the revenue they help to generate?
& (8od eoflon Sﬁﬂ&%wﬁﬁ ) PN SEPErd) SHERSFER 0% S’
fhbodarren) %5”2,0&?

Options :



Matching principle

[OVS doelgo
1.4

Revenue recognition principle

B30y B0 r(@o

2. %
Conservatism principle
QolDTeciard Selgo
3. %
materiality principle
g8 r(go
4. %

Question Number : 39 Question Id : 5471143739 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What is the primary purpose of a budget in management accounting?

Aires ©F°080RS” agth @) (@PEE [HRrado H&?

Options :

To report actual financial results

TS ©BE HVzroH VBoSEI8
1. %



To allocate costs to products and services

&S )Hen HOGH VIO PENOKH BérawoSEo

To set financial goals and objectives

@Qé ﬁaﬁ:ogﬂ?a S8 ﬂgﬂéf&@ ﬁérﬁoém’ﬂé}%
3. ¢

To prepare financial statements

<8 AR AT o oD

Question Number : 40 Question Id : 5471143740 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following authorities has the power to grant an appeal against an order

of the Appellate Authority for advance Rulings?

oGy Srdon) 0 @E};Eﬁéﬁ eoé) ) @QE’;‘E @i‘aﬁeé: Soendh 3v vdH:RY0

Bob s 06?

Options :

The High Court

27o8%%s
i 22
1.4

The Supreme Court

Bo(@08%



The Central Board of Direct Taxes (CBDT)
olwod &°6 5 go§ &gy (CBDT)

The Commissioner of Income Tax (Appeals)

STPCHR) Hy) BHIE (95

Question Number : 41 Question Id : 5471143741 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which among the following is widely accepted special relationship between a

banker and a customer?

8ob BE er3086 b ER:006 iy A y8or edrbodald L.j{ﬁéé oaoto
26?7
Options :

Agent and Principal
HBE0L) N0 (DAPS

Lessor and lessee

Beeb 080in Do

Trustee and beneficiary

HEEY HBaAsw @%mﬁ&



Creditor and debtor

Boeatreds oBSsD Loea(iares
4.+

Question Number : 42 Question Id : 5471143742 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following is not an essential element of a valid offer?
Bob &&° Denern @C%OES rolok Smgrl ©@odo 2B 5°n?

Options :

Communication of the offer

@5 TBwE) ESrsIBRS

1. %
Intention to make an offer
586 Do ﬁérﬁéo
2. %
Certainty and definiteness of the terms
HLalelatnS) :ﬁné@ PINBS0 0B VECLS
3. %
Acceptance of the offer
3386 woAsedo
4.+

Question Number : 43 Question Id : 5471143743 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following is a type of e-grocery model where customers can place an
order online and pick it up at a physical store?
8ob B Ki5:nben TBIE* w8l Db, P8 ¥66° BLSKIN a-8dee ArLS
880 26?

Options :

Home delivery model

5 2056 IS

1. %
Click and collect model
IrESs 85 TD DEBoSKo
2. ¢
subscription model
VDR LS
3. %
Home-subscription model
S -HNS IrES
4. % ol

Question Number : 44 Question Id : 5471143744 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which function of business involves developing and implementing strategies to
achieve long-term growth and sustainability?

555330% éﬁ)g Fhlaleny "m%ééﬁ& PS8 E@“ o o) E.‘SE) & Soho S0 ©Hen

3o TR0 Gg) 3 69 EOA $0inon?

Options:
Operations
SedeSeraren

a

1. %

Marketing
S=8)E0h

2. %

Finance
PP
3. %

Strategic planning

L TGS Geld

Question Number : 45 Question Id : 5471143745 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following terms with their descriptions;

8ob deogieid 8 idwes® 008 :

A. Incremental Analysis 1. A comparison of the costs and benefits of

making or buying a product

B. Relevant Costs ii. An analysis of the costs and benefits of a
proposed product.
C. Capital Budgeting ii1. Costs that change as a result of a decision
D. Cost-Volume-Profit iv. The process of planning and managing
Analysis long-term investments

A 20BRokd oS 1 6880 dair Dbiso S iPer Babiso
S odly gt Hidk PareTe P8
B. Som088 gte i, (P8&FHS @Uég S ?otga}fi PO
06 [H@AraTe I,
. Sﬁfg?}éa@ 33%65 11l. K)gcﬁao $SOBorP Sr0 P

D. gtiy)~spemsir-ery Dde V. ﬁgs@é Dbyt (Hrds Hiab WFn HED.

Options :

A-1, B-ii1. C-1v, D-ii

1.9

A-iv, B-1, C-1, D-i1i
2. #

A- B4v, €1, D-1i
3. %



A-ii, B-it, C-1, D-iv

Question Number : 46 Question Id : 5471143746 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What is the meaning of the term “RTGS™ in banking?

2%5080R&° “RTGS” &3 S8 ©fo dé?
Options :

Real-Time Gross Settlement

OOHS-Bod ([P EB)0ES
1.¢

Return to Government Securities

(53bs; 2ETBAoH BBA IR

Regional Trade Guarantee Scheme

@PoBah oedayS B Hef¥o

Reserve tranche Gold Sale

e:by (rod F°S WS

Question Number : 47 Question Id : 5471143747 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Which of the following is a type of e-retail model where products are sourced from

different vendors and sold on a single platform?

8o HE° D 88 0-088 ArsSE® s A DES Kol DEBoaiEw

586t 88 pSarEHE® Afonosaiiea.

Options :
B2B model
B2B 3r&d
1. =

B2C model
B2C 3x&é

C2C model
C2C 3Irtss

Marketplace model

SO DR eES
4.9

Question Number : 48 Question Id : 5471143748 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following is included in the operating activities section of the cash

flow statement?

S P (H50R6" ei08oR siEerare dirred® (Bob BE° 2B TWpaod?



Options :

Proceeds from issuing stock

5 a6 JoHhEo TRT° H) WD

Dividends paid to shareholders

TEFTHoDH IYow EIRE

payment for the purchase of equipment

H8%ore SRten B%%0 DOoHen

Cash received from customers

E550g Dol VEboteS SKD
4.

Question Number : 49 Question Id : 5471143749 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is the difference between positive and normative economics?

FeBS S0 TOBE JEeAE) B B AW,
Options :

1.4



Positive economics 1s concerned with what is. while normative econoimics is
concerned with what ought to be.

F2BS AETNE) 308 Nowohodiss, vowd aﬁ@% JETENE) A GoTro

TGS Sowoko L0A &otnod.

Positive economics is concerned with what ought to be, while normative
economics 1s concerned with what is.

FRBS JETE) A &0mron P8 H02000956, wond mﬁﬁﬁ S NE)

Q98 502000956,

Positive economics is concerned with individual behaviour, while normative
economics is concerned with aggregate behaviour.

Prére @gpé FR0 OIS STTO D SEPYNE G0N0k, WoNd FErSe

908 TR0 PIrods grided YErtdt Gotkwod.

Positive economics is based on empirical evidence, while normative
economics 1s based on theoretical concepts

FarREre @gé FR0 ©FPIE SGrTreNs SrrdH Gotwod, ©woNd b

@gé (R0 ':;gﬁsgo@é PIIOD SFEHE Gotwod.

Question Number : 50 Question Id : 5471143750 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What 1s the difference between Memorandum of Association and Articles of
Association?
Darcoto 6 eFHAET Hod g5 6f ePDAIT D S ADE?

Options:

Memorandum of Association defines the relationship between shareholders
and the company. while Articles of Association define the objectives and

powers of the company

DAroroto o RIS PErTien HOAD o 55 HoaoqE)
G008, wand ©030) & OVFRTES 05 @n%) ogxes SO

OGO ARG,

Memorandum of Association defines the objectives and powers of the
company, while Articles of Association define the relationship between
shareholders and the company.

Darrodo af ©FREHES Sond @o¥) OFen DO ©bTed IR0
8, ©onad @géﬁj 55 VOGS PErordhen HOdm S0 g5 Sowogrd)

?06583@0&.
2.

Memorandum of Association is a public document, while Articles of

Association is a private document.

DaArcroo ef oWahES S5 eyl ©oona sB50) 6 oFDTHS

@35 Gﬂé}éﬁaoﬁ



Memorandum of Association is prepared before the Articles of Association.

605 b ONDGLS Fol) fwold BIFToo 6f EPVGGS ST+

J05aéob.

Question Number : 51 Question Id : 5471143751 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is the significance of the Certificate of Incorporation?

RYVES 85 aTTNTAS Gws) (@soggd Dd?

Options :

It confirms that the company is a legal entity

30 S0 SLHEHE Koy ol Jdinob

1.4
It confirms that the company has a bank account
So028 a}béog rE° GoN 26 3}0366@0&
2. %
It confirms that the company has paid all its taxes
S0 S of) Dy BYoDoE ad IToRH.
3. %

It confirms that the company has listed in stock exchange

L0 @;E Qéﬂ}joéﬁs P SHa&oSd 1 33%8@0&



Question Number : 52 Question Id : 5471143752 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is a measure of a country’s international trade balance?

Bod 86" Bdo Gns) wosTah ardey Sodwdo Gwy) Fedrio A6,

Options :

Gross domestic product (GDP)
Sre B83r$)8 (GDP)

1. =
Gross national product (GNP)
e @80 &8 (GNP)
2. % "
Balance of trade
SPERE, OO0
3.v B
Balance of payments
IDoRe TeB
4. % i &

Question Number : 53 Question Id : 5471143753 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following is not a responsibility of an auditor in checking corporate
frauds?

FE0S Aoy $39 Johos® Bob BE® D6 w8LES wris Sirouth?
Options :

Reviewing internal controls

©0358 Aoho@redh dgosto

1. %
Assessing the risk of fraud
FPR0 @) (DPTPY) WO Efevitafe!
2. %
Investigating all allegations of fraud
AePR8 Ho20800F &l o Hmed H888605%0
3. %
Guaranteeing the prevention of fraud
Ao QarBed 5Bab askEo
4.9 N

Question Number : 54 Question Id : 5471143754 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the price elasticity of demand for a product is greater than 1. then

28 6888 850l Tk 8 18 FSES 1 K8l IS 0B, ePp
Options :

1.4



A decrease in price will lead to an increase in total revenue

$86° Sihie Fndo emrchos® vBIHELH T8 Skob.

A decrease in price will lead to a decrease in total revenue

$6E° Srhtie Imdo errchod® Ste b 806
2. %

An increase in price will lead to an increase in total revenue

58 2BorHSe Indo emrahos® S b &ob.
3. %

An increase in price will lead to a decrease in total revenue

56 2BidEe Iwdo Taldd® Shtes 6 8y08.
4. %

Question Number : 55 Question Id : 5471143755 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which financial statement shows the company’s revenues and expenses over a

period of time?

o HH66° S0 errdirer HBA HneH O 6fY AIBY drhEon?
Options :
Balance sheet

5
1 CUND EN‘\ ol
. ®

2. ¢



Income statement

STPOH (D56

statement of cash flows

,, St Gao @
R

statement of changes in equity

SH&ES® Srtne (B80S
4. %

Question Number : 56 Question Id : 5471143756 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is an example of trading transactions that an auditor might

vouch?

800 B wdirb Fib i) TS TEeH STFn 207

Options :

Purchase of fixed assets

28 epe SPoRten
1.2 ¢

Sale of mnventory

e3ef)ae @é:é&fo
2. ¥



Payment of salaries

v

Lere D0

Payment of dividends
&DRoE B0

Question Number : 57 Question Id : 5471143757 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which is the Process of transferring ownership of a bill of exchange from one party

to another called?

SrO dey direliraeg) a8 o S0k HEE ST8 akd 3 PBAD Jdotrt?

(=

Options:

Endorsement

—=

SR 0

Assignment

L

e9enA0es
(e}

Negotiation discounting

éé{j}.&:« XNk éﬁoﬁo%”éoéa



Discounting

éﬁoa’g,

4. %

Question Number : 58 Question Id : 5471143758 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Section 115 JB of IT Act deals with

IT S¢gsio 115 JB DB e & SO0,

Options :

Securities transaction tax

?\}éﬁé&aé: SpSSore Sinyen

1. =
Maximum alternate tax
ME% (@ergonc D)
2. #
Minimum alternate tax
- B (Hergimah B
Surcharge
GBI DY)
4, w

Question Number : 59 Question Id : 5471143759 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Section 2 (9) of IT Act deals with
SPAD tﬁ%o“m 3}&5 2(9) .....8° Homothdm SehH

Options :

Person

53
1. %

Assesse

D80 Do
2. %

Previous year

ot ﬁDEﬁéﬁ‘}éEﬁn

3. %
Assessment year
SRy JTPhEs 0SS B0
') [+
4.

Question Number : 60 Question Id : 5471143760 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following 1s not relevant for vouching cash sales?

$HS wdysee LD0R% (Bod IS Howotksn B

Options :

1. %



Daily cash sales summary

Goarard Kol Hrith esren

Salesmen summary

©IEoTHe Dol DROE
2. %

Statements sent to customers

PrErrHed Hodods DJ6%en

Bank Statement

RS0 DROE
4,

Question Number : 61 Question Id : 5471143761 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In which year, WTO was formed with GATT as 1ts basis?

WTO 5 GATT sedsonr o éo:ﬁéﬁn‘}d;ﬁné‘s %E:Gﬁamfﬁj?

Options :

1993

1994



1995

1996

Question Number : 62 Question Id : 5471143762 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Material usage variance is calculated with the help of

RS E° SEPY AN TOer) fatictuilet}

Options :

SQ-AQ

AQ/SQ

(SQ-AQ) x SP

SP X AQ

Question Number : 63 Question Id : 5471143763 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In P/V ratio. P and V stand for
P/V 2586°, P.Ven ......5 &rdFaw

Options :

Contribution. sales value

So@argiiS, einEdend
1.¢

Contribution sales volume

éo[ﬁ:argﬁﬁ, oEre HOSTEED

Contribution. profit

So|@armgids, ergfsm

Contribution. sales mix

éo@wﬂééﬁ, B5Ece S|P3 35m

Question Number : 64 Question Id : 5471143764 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Accounting standard 7 deals with

75 eofoh (Hhremdm....... % B02050DK58.

Options :

Construction contracts

NO%E SPolErRen
1.¢



Revenue recognition

BP0 Hothé

2. %
Fixed assets
TRRDeD
@ —
3. %
Foreign exchange rates.
B8 Sr55D Béw
4. %

Question Number : 65 Question Id : 5471143765 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Contingent asset appears as a foot note in balance due to

FoSradsn Sob ey sR el vdpe SBEE® B0 L.

Options :

Conservation

208Eee

1. %
Consistency
B

2. ®

3.¢



Disclosure

JIoé

Materiality

g 568
4, %

Question Number : 66 Question Id : 5471143766 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Sale of goods Act. covers

o8 Hedn BOHERS ....e0 Bpaw

Options :
Assets
esren

1. %

All kinds of properties

W05 6roeD

Immovable properties

QTRDED

Moveable properties

VoSN
4.9



Question Number : 67 Question Id : 5471143767 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The system of recording transaction on the basis of dual concept is known as

r:f:;od;e:lﬁa’ae‘is ool $3rdh Datn GreeRy, B0t
Options:

Double account

206 @ ofHoh

Double entry

ao&:&’:iﬁ:ﬁ

Single entry
2,085

3. % @

Multiple entry

20 5&3@3

Question Number : 68 Question Id : 5471143768 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Accommodation bill is prepared by

20ERPEGsED Depi. ... SATRHTIL.

Options :
Only drawer
e S® SriEah
1. %
Only drawee
2. % &ran 5’:.39@‘933

Both drawer and drawee

et 5805 [Erom
3. ¢

Endorsee

o)
4, %

Question Number : 69 Question Id : 5471143769 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
When two parties make an identical offer to each other ignoring the offer of each

other 1s known as

0ot &ém 28 BEDS [HBPESD 2508 BDAhHDHO a8 T Totke © [HEPEID ...
©0trl
Options :

1.4



Cross offer

5 (P8BS

Lapse of an offer

oS (HPSS

2. #
Not an offer
BBFES =0
3. ®
Specific offer
(S8 (HBIES
4. %

Question Number : 70 Question Id : 5471143770 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is not a method of costing?

Bod D&S® Db Hjuiros HEs so?

Options :

Marginal costing

=~
1@ &aros a’:.ﬂvcsﬁnvoéa’:m



Job costing

ezogy fevuel vy

Process costing

@ﬂ?ﬁ ;’:aegd‘javoéa":m
3. #®

Operating costing

mﬁsa’:nsa a’aédﬁ}noééw
4., %

Question Number : 71 Question Id : 5471143771 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Under which of the following, wage rates are linked with cost of living index?

80d 8" 20 8508 408 woRs% ad TF.

Options :

High day rate
wfE6% Téw

Graduated time rate

P CHBE seetin
2.

Flat rate

v el
3. %



Measured day rate

B8)00% &% Téw
4, %

Question Number : 72 Question Id : 5471143772 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Cash from operations is equal to

snééérm&)ﬂe QY DN D & Hdrdsw
Options :

NP + increase in outstanding expenses

NEY erdo+3DoLN a’)g:‘-ﬁ:baéﬁ FoletTatlats
1.¢

NP + mcrease in debtors

>« QEBergo + awmlihed® 1dde

NP + increase in stock
DESerdo + ﬂ;;é Falebighlnls

NP
REBerg W

Question Number : 73 Question Id : 5471143773 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Carry forward of errors from one year to another year affect

Barod a8 HosdBintod s%had Hoddras SREIPIL S8 ... Herddo vPdob.
Options :

Personal account

e8RS groe
1. % o=
Real account
TPRNE grEe
2. #
Nominal account
TeSDAT|S grae
3. %
Both Personal account and Real account
Eﬁégﬁé grae H0cin RIS gra
4,

Question Number : 74 Question Id : 5471143774 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In job contracts, price increases beyond a level, contract price will be enhanced due

[0

& Sorged 8rand ot ...... ST oleh S08 Do

Options :



Notional price

el 58
1. %
Escalation clause
5 & oL VOGN
Estimate
SO
3. %
Indirect cost
¥6% Hsopo
4, %

Question Number : 75 Question Id : 5471143775 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The concept of limited partnership was first introduced in

H0808 grriRrEngini IntEIOT ... Gé5ns® @3@%@“&

Options :

UK
1.¢

USA



India

eSS DESD
France
Evo)
4, %

Question Number : 76 Question Id : 5471143776 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Prospectus has to be issued within days of registration
ZoR 3t ol DBBAD JEeR) .....B e’ &rdBaird.

Options :

60
1. =

80
2. %

30
3. %

90
4.

Question Number : 77 Question Id : 5471143777 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
51101"[ 1 average COST curve must bE‘

Bee)se08 Biidw Eﬁédﬁjém SBAH0TP...... Hokwob.

Options :
L-shaped
L-essedain

1. %

U-shaped
U-esseds0
2.

Both L-shaped and U-shaped

L-sssetadn snBdin U-essetisim
3. #®

L or U shaped
L 8o U esseds

Question Number : 78 Question Id : 5471143778 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

For which of the following, macro economics establishes relationship

between

8od 86" B8 Hpeo 68 FHEn Konotin BerlhEobd.

Options :



Income and general product level

SEaHEW, o 5P Pow

1. %
Expenditure and general income level
L), el mPdhSn i)go.:s::

2. %
Income and general expenditure level
PGS, PrPl &aéatjﬂgm:

3. %
Income and general price level
STPCLaW, s cﬁéﬂgm

4.+

Question Number : 79 Question Id : 5471143779 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following is not customer of a bank?

Bob 8 28 erod o H?

Options:

A person

558

A firm

25
O
BeA



Joint stock company

20005 @;E Zo2d)

Non-seperate. non-legal entity

BIFTRS BBV 255;’3}-%

Question Number : 80 Question Id : 5471143780 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Consumer Protection Act was passed in year

i ﬁo:ﬁiﬁjﬁmég B4R Tovs i Tatmite) SEes ﬁ%s’m 2-53&0&.

Options:

1987
1.4

1986
2. %

1985
3. %

1988
4. %

Question Number : 81 Question Id : 5471143781 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
EXIM bank is owned by
EXIM eroB coessied.....

Options :
RBI & GOI
RBIl s»8di» GOI
1. %
RBI and select CBs
RBI 508ai0 Qo8 DS ardey arohen
2. %
GOI
3 ¢ GOI
Partly by financial institutions
ar8orre D&doden
4, % Ly

Question Number : 82 Question Id : 5471143782 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

is not a major type of e-commerce

e-s5nb) &° (Herd 8850 526

Options :

1.4



CtoB

BtoC
2. #

BtoB
3. #®

CtoC
4, %

Question Number : 83 Question Id : 5471143783 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is early to e-commerce?

65206 E08°res® Bobards® O trdsn 8287587

Options:
EDI
1.4
SCM
2. #
Both EDI and SCM

EDI s08d% SCM



Spyware
)26

Question Number : 84 Question Id : 5471143784 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

proposed that learning can happen by observing others

BSEOD NDJoDE HO 3&3&?5}&3 H0200thd.... [DeFHDTE

Options :
Gardener
ﬁﬂ@é‘éﬁ

1. %
Albert Bandara
&aémg 2058

2. %
Chomsky
5°50) 50{;

3. #

Jerome Brunner
26°% o6

:
4. % .

Question Number : 85 Question Id : 5471143785 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
___isakeytoe-CRM
e-CRM &° ..... feo5m

Options :
Retention
cJenayStendy

1. %
Reactivation
80A Bairded

2. ®
Referral recommend
BB BT

3. %
Personalisation
581885

4.

Question Number : 86 Question Id : 5471143786 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is not the essential of micro-environment?

Bob :8S* D6 gy DoopdBerRl edEen soth?

Options:



Suppliers

RDOHTTEED

Competitors

5 D Brrhen

Trade policy
B85y Aogrdsm
3.¢¥
Public
[Sdezen
4. %

Question Number : 87 Question Id : 5471143787 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Promotion of e-commerce by government is example for environment

(808303 e-500) [EPerpsin..... SouBLerd8 et
Options :

Political
oeasboh

Technological

Hos8Y
2. ¢



Legal

ra%avééé
3. #

Social

PSTeE
4, %

Question Number : 88 Question Id : 5471143788 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In which of the following Prime Ministership, liberalization was brought?
D BErso® Fsisns® $5d8sH Bomh?

Options :

Sr1 Chandra Sekhar
8, Soldpb

Dr. Man Mohan Singh

Dr. $5083rses doh

Dr. P.V . Narasimha Rao

Dr. 3.8.88%05Foe)
3.¢¥



Sri. A.B. Vajpayee

3, A.B. eEaron

Question Number : 89 Question Id : 5471143789 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Name which of the policy decision accords expenditure and taxation powers to

Govermment of India?

Q s Yooy (40SinRE ity Sy ©hsTdt08.

Options :
Monetary
2
1.
Fiscal
g%
2. ¢
Labour
3. % o
Trade
SBES
4. %

Question Number : 90 Question Id : 5471143790 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The implementation of KYC in banks primarily addresses which of the
following

oo KYC eden Ddine FPEEsore..... & $rddod.
Options :

Reputation risk

85 (Himession
1. %
Legal risk
TPRTEE (DB
2. %
Money laundering risk
B (H5eE5D
3.¢
Compliance risk
BEB EHESD
4. %

Question Number : 91 Question Id : 5471143791 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Who is the Lessee?
SPenttD weatn?
Options :

1.



Owner

doasTed

Co- Owner

e dvassrd

Buyer
B0 entedd

User

aSoreesb
4.

Question Number : 92 Question Id : 5471143792 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which year SIDBI was established?

D DoDSBH0S® SIDBI Q dovyen DR#E?

Options :
1990
1.9
1988
2. %



1992

1994

Question Number : 93 Question Id : 5471143793 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What is the role of payment gateways in e-commerce?

3-5°08)6° B0 NeTde o De?

Options :

To facilitate secure and efficient online transactions

DEZES DB BDEH0SPS 6SFS errdesd Hegddo JoHeR8
1.¢

To provide financial advice to customers

A ovvitataile o1y fsa%é westen ewododto

To collect and manage customer data

53508 Berdd DEBOoSTIE b ABRPoSEIE

To monitor compliance with banking regulations

&r5080N JeoFdes ekoresor® aﬁégﬁéoémﬁé}%



Question Number : 94 Question Id : 5471143794 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following incentive method should be used for indirect workers

Bod >BE° SEE (FHH0D D (R0 B SSEFARL.

Options :
Rowan
58

1. %

Taylor

- Eeb
Gantt
e

3. ¢ “
Halsey
~h =L

4 % ojE'x.J o

Question Number : 95 Question Id : 5471143795 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of these is related with Maslow’s basic need theory?

Bod BE° I HrRP e IS VEPoEEIS FosIB

Options :

Esteemed need

PEDoSals edddo

1.¢
Distributor’s need
oD ©S%50
2. %
Seller’s need
@?".ﬂéé‘{;}mnﬁﬁ:l 9380
3. %
Society need
tIoaTPEIN) 9GO0
4. %

Question Number : 96 Question Id : 5471143796 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In which year, RBI has introduced digital rupee in India
Bob BE® O Hod)B5we® b.8.0., babd Graraw (HRE2800?

Options :

2022
1.4



2021

2. %

2019
3. %

2020
4, %

Question Number : 97 Question Id : 5471143797 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is not an element of the Micro environment of business?

Bob THE° 06 Jrg) Sooteod” griio S

i

e
Options :
Trade policy
- HBE DerRdo
Public
|Sdesen
2. %
Distributor
Lo

3. %



Competition

S5é3

Question Number : 98 Question Id : 5471143798 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When did the Foreign Exchange Regulation Act (FERA) come into being?

D dosE B0 JB8 S8 (350 BabadEten $o wherd®l $9)00?

OQ !
Options :
1975
1. %
1974
2. %
1973
3. ¢
1980
4. %

Question Number : 99 Question Id : 5471143799 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Number of days auditor should inform about his acceptance of

appointment
b6l DarDE Bt Perod® BO0HERD.
Options :
10
1. %
20
2. %
30
3. ¢
15
4. %

Question Number : 100 Question Id : 5471143800 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

When the auditor verifies the transaction from first stage to last stage 1s known

ds

el60 Sforod 3t G¢ Dok D50 88 ST J0rHiD ZleTadov

Options :

100% checking

100% 380h



50% checking

50% 38oh
2. %
Audit in depth
So(ifsednmr ele
3.¢¥

Detective audit

3@3& ﬁ:goé ealieS
4. #



